Station 1 Chapter 4 review (4.1-4.3, 4.6)

Name

ANSW.

1. Label and state what additional information the triangles need to be congruent for the given reason.
Then, complete the triangle congruence statements,
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AMBC=A HGF
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2. Find the values of the missing variables, given the following triangle congruence statements.
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3. An exterior angle of an isosceles triangle has the measure 130 degrees. Find two possiblesets 0f““~J

measures for the three angles of the triang}:e;) i 50/ 50/ %0\\, /
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Using Gorres;:i'c.:ih.ding Parts of Congruent Triangles

5, Complete the proof, A 8

Given: BD 1 AB, BD L DE, BC = DC ~ 1
Prove: LA = /LB ' C
D E
Statements - Reasons
1)BD L A%, BD 1. DE | 1)1 (e
2) ZCDE and /.CBA arerightangles. | 2) Definition of right angles A
3) /CDB = £.CBA . 3). 1 Rogt F> Thw
1 AL 2L AOY; 4) Vertical angles are congruent,
5)BC=DC 5) I\ wHY .
62 NAL S PELD 6) 7 ASA Geplm s
. . - a i . ] -
7 LA = /LR 7) 2 Dogcsp- QGAS;‘:' :
| 7 6
6. Construction Use a consiruction to prove thatthe /B ‘ ‘
two base angles of an Isosceles triangie are congruent.
Glven; Isosceles AABC with base AC
Prove: /A= /C
: A C
L
Statements Reasons
1) AABC is isosceles. n.7 Cq\.r‘-ﬂik :
2)AB = CB _ : -2) Definition of isosceles triangle.
8) Construct the midpoint of AC 3) Construction
~ andcallit D. Construct DB, '
A O Ao ¥ . )
47 P{D = (D 4} Definition of midpoint
5)BD = BD | 5) 7 Qo e
6) AABD =< ACBD - 6)_7_ 35%
N1 LAl ' - _
RN IR N coeq(.
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Fill in the missing information in each proof,
4. Given: GH=KL, 262K, and Gi=K]

G K

i | L

Prove: T=I]

St@m@ts Reasons

1. GHS{I\({L 1, Given

2, <BELR 2.Give&

3, GI=R]. <13 Gty

4, DGWL EARLY 4. SAS o
S.Fl_lgm 5, C(r\;{'Q hg D’S:

6. . Given: STWY, and STaVW

5. Given: ZMNP= 0PN, and MN=0OV

(e,

O
N
P
M
Prove; MP=NOD
Statements Reasons
1, S tANC 2,000 1. Given
2, MN=:0P 2, (e o
3, NP NP 3. Pa\ptN
4, AMNP=AOPN | 4. SRS
5. e~ Wy | 5.cpere

Given: AC={E, DC=BC

Prove: SU= WY over ZB2sT
St‘ateméﬁ!ﬁ : Reasons g‘::!;ilént;;{i Reasons
LoSTHW L Givon — SIENL
2, 5% 2 VW 2. Gitven L Ac }C%& L G’w\“
3.<¢5% 3. Alternate Intertord T, 2+ VL2 2. Given "
4, 45U WOV - 14, Vo, ¥ Thwy 3.LACB=DCE |3, Veck, ¥ T
S0 ;A 5uTe fwuv] 8. AAS 4. ASBC%ADEF ';r SAS s 2
b o o | 6 Ve, ,[}xu 5. 2B2sD PR LA
SAS . 6 Qe P Caet- € @?m’c)
8. Given: GHY{JT, {is the midpoint of HK and Givent ABY DE, AT bisects BD
GH=JI
D
4
Ix B
Prove; £G= /] Prove: ACele
Statements Reasons Statements Reasons
1. GH|[JY Lo~ 1. feline 1. Ginw
2.1is the midpoint of AR | 2. Gveny 2, A& osas 0 | 2, Given N
3. GRETL 3.Given 8, LABCH 2B0C | 8, bk ¥Thw
HHIR 4. Do bt 4, ¢ACBs: zDCE & VeA, ¥ frm
5 4w LT\ 5. Corresponding 5 6C < 5, Def of Blsect
6. DOWES DY I% 6.5As ¥4, “553“‘5.,1:“‘; 6 A e
7. £Gzl] ) 7. Cot s ER N L Q‘Mig Coce. p¥s. S N5 =
Coun) o Bivon-RMNOFNIRO, T (cpere)
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isosceles Triangle Practice
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Station 4 Chapter 4 review  PROOFS Name //A/\\} 5 U%S

a. Given: XS bisects ZRXT, ZRSX = /TSX

Prove: ARSYX = ATSX

Statements

Reasons

1. XS bisects ZRXT, Z/RSX = L/TSX

L Gwvene

2. ZRXS = /ZTXS

2 D hiseed

G EG

3. Reflexive Property

(1w

YA RSK S ATX

YOASK

Given: EEHEN—, LR=NR b
Prove: ALAR = ANSR

Statements

Reasons

1. LA||SN

1.
Ghvepe

2. Z§ and /4 are alternate interior angles

B Dby, alk i, ¥

3, AS=/4

A At E Th

4, ZLRA and ZNRS are vertical angles

Y Defw ved x5

S LLUAZLNGS

5. Vertical Angles Theorem

6. REW\

6. Given

>

DN AR S ANSK

RS




4.5 Isosceles Triangle PROOFS

4
5 Given: AB= AC, M is the midpoint of BC
Prove: AM bisects ZBAC
M C
Statements Reasons
1. M isthe midpoint of BC L. G’]\rﬁ/\«

2. Definition of midpoint

3. Given

4, < ¢ =< ([ 4. Isosceles Triangle theorem
5. APAM=ACAM 5. S/,}S
6. o X 6. Corresponding paits of congruent triangles are

< P = Z (A V\ congruent
7. ﬁ{)\ \‘D}‘Si / QAC/ 7. Definition of bisect

- M, r
4 Given: MQ = PQ, 21 = /2
Prove: MN = PO 0
2
ha o

Statements Reasons
. MQ=P0./=22 b Cavere

2. QN=QU

2 (envese of Tges. N Thm

Y OLMBNT L9go

3. Vertical angles theorem

4, A= A 20D

+ 9AS

S 000TC (Cun*%{} puls of &P e ’—Z}
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Geometry: 4.6 HL Theorem Worksheet Name: , Period:
1.) Are the triangles congruent? If they are, give a reason. (555, SAS, ASA, AAS, or HL Theorem)
a) B b} M c)
;'HL___V -
R = ____L‘-h.:";x - N,
EE// 2 ‘4&—&0 N
7
H i SAS
M T
A S &) %& f}
\ " * ¢ NHe e
o -
( no STA) 334
9 Fy 4 h) & i b
= AT L
v 7N Pele
AAS L0 E
SAS £ SA S
' ¥
y \X k) noon
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) ny 2 o) A
S
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- P 0~ T 2 c
w v T 5 » \i}z
AS A No T ans
2.} HL Congruence Theorem Determine whether you can use the

HL Congruence Theorem to show that the friangles are congruent,
Explain your reasoning.




PROOFS: 3.)Logical Reasoning Fill in the missing statements and reasons.

Given b BD =FD B F
Dis the midpoint of CE. (
£BCD and £ZFED are vight angles.
s = AFED
Prove 2 ABCD = AFEI ; ] 7
Statewents Reasons -
1. BD = FD o 1. Cvet
2. Dis u’Y?!\L(,‘()"O'{“ CE 2. Given
3, €0 2 €n 3. Definition of midpoint

4. /BCD and /FED are
right angles.

!59)(,1) C\(_!{,St &p61> are
right triangles.

s.'.'l

8. ABCD = AFED

5, Coveeng

5. Definition of right triangle

6. HL 9

4, PROOF:
Given: TP L AS, AP z SP
Prove; AATP = ASTP
statements reasony
. 7P 1. AS. AP = SP . Oiver
2. <ATP and <STP are right angles 2. Dufn. L
3. AATP and ASTP are right {riangles 3. (Dg(ﬁ'\i ri. A
4, TP = TP 4, Refloxie
5. AATP = ASTP 5. ML
5.) PROOF: A P
Given: <D and <B are right angles, 4D = CB ‘ 1 [ -
Prove: AABC =z ACDA
) B ¢
statements Ieasons
1. <D and <B are right angles, AD = CB 1. wav
2. AABC and ACDA are right triangles 2. Defn. vl N
3. RC 2 (A 3 Redfliaie
4. AABC = ACDA. a. ML




